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Physical Constants:

Quiz and Exam Formulse & Constants Fall 2020

. o L Do Tim,
S F = ma = 2 W= [Fas T = S
dt
) ap W.. = AK + AU + AE, po o Jrdm
Y Fou=Mi,, =— = Tdm
dt K:%mv2
7 I = m;r
7__;“:]—0_2:% K:%IQP Z il
f‘ na: :Mwn Ug:mgy I:/r2dm
1 2
fo = mn U. = 3k (As) I =1, +Md
G ~
0P Us = — UL L=rxp
ar—7 r
2 & = md p_ B, L=13
Crmem dt x = Acos (wt + ¢,)
- 112 _ B
|Fa| = |72 pP=F-v (z’x:—w2f
D = 1CpAv? j:/ﬁdt:Aﬁ w=+k/m
T=7rxF ﬁ:m{)’ w:27rf:2%

Universal Gravitation Constant G = 6.673 x 10~ N-m? /kg?
Gravitational Acceleration at Earth’s Surface g = 9.81m/s?

Unless otherwise directed, drag is to be neglected, all problems take place on Earth,
use the gravitational definition of weight, and all springs, ropes, and pulleys are ideal.

All derivatives and integrals in free-response problems must be evaluated.



